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Remarks:  See §2.2.1, pages 19 till 21 

See §2.3, pages 24 till 26 
See §2.6, pages 34 onwards 

 
 
Hint:  
 
The truss is symmetric about the point of application of the force. It is therefore 
sufficient to calculate for truss members (1) to (5). 
 
Answers:  
 
a. (1) 267,5 N/mmσ = −  b. (1) 0,96 ‰ε = −  c. (1) 2,0 mmΔ = −  
 (2) 0σ =    (2) 0ε =   (2) 0Δ =  
 (3) 2150 N/mmσ = +   (3) 2,15 ‰ε = +   (3) 7,5 mmΔ = +  
 (4) 290 N/mmσ = −   (4) 1, 29 ‰ε = −   (4) 3,6 mmΔ = −  
 (5) 2135 N/mmσ = −   (5) 1,93 ‰ε = −   (5) 4,1 mmΔ = −  
 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
Explanation:  
 

(1) 135 kNN = −  
(2) 0N =  
(3) 225 kNN = +  
(4) 180 kNN = −  
(5) 270 kNN = −  


